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1.  If the roots of the equation x2 + PX +q =0 are
tan 19° and tan 26°, then which one of the
following is correct ? |
(a) q-p=1
b p-q=1
(¢) p+q=2
d p+qg=3

2.  What is the fourth term of an' AP of n terms
whose sum isn(n + 1) ?

(@ 6
(b) 8
() 12
(d 20
3. Whatis
(1 + tan o tan P)? + (tan o — tan B)? —
i sec’ o sec’ B
equal to ?
(@) =6
® 1 ‘
) 2
d 4
4. pr=cosecB—cotBandq=(cosiacB'+cotB)’1,
then which one of the following is correct ?
(@ pg=1 '
(b) p=q
() p+q=1
d p+ q= 0

5. If the angles of a triangle ABC are in the ratio
1: 2 : 3, then the corresponding sides are in
the ratio
ta) 1:2:3
() 3:2:1
(© 1:4/3:2
@ 1:43:42
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6.

7.

(3-B)

Consider the following statements :

1. For an equation of ;':1 line,
x cos 8 + y sin O = p, in normal form, the
length of the perpendicular from the
point (a, B) to the lineis
|otcos © + Bsin® + p|.

2. The length of the perpendicular from
the point (a, B) to the line §+%=1 is

aa +bp —ab

‘faz +b2

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2
(d) Neither 1 nor 2

A circle is drawn on the chord of a circle
x2 + y2 = a® as diameter. The chord lies on the
line x + y = a. What is the equation of the
circle ?

(a) x2+y2-ax-ay+az=0
b x*+y’-ax—ay=0

(c) x2+y2+ax+ay=0

(d) x2+y2+ax+ay—2a2=0
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8. The sum of the focal distances of a point on an
- ellipse is constant and equal to the
_(a) length of minor axis
(b) length of major axis
(c) length of latus rectum
(d) sum of the lengths of semi-major and
semi-minor axes

9. The equation 2x% - 3y2 — 6 = 0 represents
(@) acircle
(b) aparabola
(c¢) anellipse
(d) ahyperbola

10. The two parabolas y? ='4ax and x° = 4day
intersect '
(a) attwo points en the liney=x .

(b) only at the origin

(c) at three f)oints one of which lies on
2 y+x=0 g :

(d) only at (4a, 4a)

11. The points (1, 3) and (5, 1) are two opposite
vertices of a rectangle. The other two vertices
lie on the line y = 2x + ¢. What is the value of
c?

(a) 2
b -2
() 4
d -4
EDF-S-DGV

12.

13.

14.

15.

(5-B)

If the lines 3y + 4x = 1, y = x + 5 and
5y + bx = 3 are concurrent, then what is the
value of b ?

(a) 1
® 3
© 6

g
Ve 2

What is the equation of the straight line which
is perpendicular to y = x and passes through
3,2)?

(a) x-y=56
(b) x+y=5
(0 x+y=1
d x-y=1

- The straight linesx +y-4=0,3x+y—-4=0

and x + 3y — 4 =0 form a triangle, which is
(a?_ isosceles

(b) right-angled

(¢) equilateral

(d) scalene

Thecirclex2+y2+4x—7y+12=0,cutsan
intercept on y-axis equal to

(@ 1
b 3
() 4
d 7
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What is the value of 20. What is the value of B ?
{ e LN (“a sin 34° cos 236° — sin 56° sin 124° B g
s = cos 28° cos. 88° + cos 178° sin 208°

(a) -2 (b). 0

® =1 © 1

(c) 2

d 2

@ 1 :

3 :
17. tan 54° can be expressed as Consider the -following for the next 02 (two)
(@) sin 9° + cos 9° items :
sin 9° — cos 9° :
S e N It is given that cos (6 — ) = a, cos (6 — B) =
(b] sin 9° — ms"gg’ f."'- Ay
sin 9° + cos 9° ;
21. What is cos (o — al to ?
© cos 9° + 8in 9° : ot o
' S (@ ab+1-a2 J1-b2
§ @ sin 36°

! cos 36°
] -

Consider the following for the next 03 (three)

items : '
Ifp=Xcos0-Ysin0,q=Xsin0+ Ycos B y
and_p2+4pq+q2;-AX2+BY2,OSBS%. 22,

18. What is the value of 0 ?
T
_(a) E
e
(b) 3
: i
(e) 2
Tt
(d) s 23.
19. What is the valueof A ?
(@) 4
b 3
e 2
@ 1
EDF-S-DGV hadis (7-B)

(b) ab- ‘/1 ~ad y1-b®

ay1-b2 —by1-a?

.aJlQ b2 +by1-a2

What is sin? (a — B) + 2ab cos (o« — B) equal
to ?

(@) aZ+b?
(b) az-b2.

@ -@Z+1)

If sin 0.-4- cos o = p, then what is cos> (201)

equal to ?

@ p°

® p2-1

© pi2- p2)
@ p2+1
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2 P ™ 30. ﬂﬁsinze=msem‘f0<e<1‘-% Al sin 0
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24. What is the value of sin"lg- + sec“lg ~X9 |97. I cosA %, then what is the value of
g = 2

n
(8) Z

W e ]
et T ey &QW =

(b) 3 i e /%i""&ft‘ 5

16

W _5_

24

7

e (3

(b)
() = y
| ~&
@ o / ©
/ d .
(d) 32
85. 1f sin! 2P __mﬁll—q:' = tan! _2X_ |28. What is the value of tan 75° + cot 75° ?
1+p 1+q 1-x2 (a) 2
then what is x equal to ? b) 4
@ 2t GOl © 243
1+pg - @ 443
T - |29, What is the value of
Sl e, cos 46° cos 47° cos 48° cos 49° cos 50° ...
@ T cos 135° ?
1+pq (@ -1
\
m . 2Ee L
¢ 1

26. Iftan @ = %'andta'nq)= %,-thenwhntis{:he

(d) Greater than 1

80. If sin20=cos 30, where o-:e:.%, then

whatis sin6 equalto? I

value of 0 +¢)? 41 ' |

: (a) '

by J5 -1 i

@ I J5+1 |

[

@ = -1 a!

2 el i

_ _ :r
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32.
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(b)
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Consider the following for the next 02 (two)|34.
items that follow :
In a school, all the students play at least one of
three indoor games — chess, carrom and taple
tennis. 60 play chess, 50 play table tennis, 48 play
carrom, 12 play chess and carrom, 15 play carrom
and table tennis, 20 play table tennis and chess,
31. What can be the minimum number of students
in the school ?
(a) 123
(b) 111
() 95
IR B
xEx) (@ 63
32. What can be the maximum number of| -
students in the school ? 36.
(a) 111
(b) 123
() 125
d) 135
83. IfA is an identity matrix of order 3, then its |,
inverse (A7) i
(a) 1isequal to null matrix
(b) isequal to A
() isequal to 3A
(d) - does not exist
-EDF-S-DGV (11-B)

A is a square matrix of order 3 such that its
determinant is 4. What is the determinant of
its transpose ?

(a) 64

(b) 36

© 3z __
@ 4

From 6 programmers and 4 typists, an office
wants to recruit 5 people. What is the number
of ways this can be done so as to recruit at
least one typist ?

(a) 209
(b) 210
() 246
d 242

What is the number of terms in the expansion

of [(2x - 3y)” (2x + 3% ? |
(a 4 |
b) 5
(0 8

(d 16 |

In the expansion of (1 + ax)”, the first three |
terms are respectively 1, 12x and 64x%. What
is n equal to ?

(a) 6
(b) 9
(0 10
d 12



38. @@ 1, 5 3R 25 fiF 9g (AT ¥ A BT
HEwEH TE) B Thd &
. RcAb

@ ¥ APE 5. b

(b) TH § At W ufifia g § APs
% mé@rﬁﬂsﬁi |
%) uftfia we § GgPs %

T 7 ?@
(a) (2p)d 9Q

(b) MR & %

© pITFTRF
@ E@RFFAS

40."4&.&,3@&1:‘:-.13?[%‘31* e B, @
ﬁmﬁfﬁwﬁﬂaﬂq—m@aﬁoﬁ?
)

] !
(a) det(-A)=detA [°
\/6) det (- A) = (- )" det A
T © b =-duA

(d) det(-A)=ndetA

41. 25 cosec® x + 36 sec’ x I AW WA HI

22 ut MM'IL

(a) lgé;_c\m - CU)-"::‘

h) 11 e
%6+

() 120

(d) 121

S 3R qTH
faremy #ifro -

" Sfifsg A 3R B, 8 x 3) g ¥ Wl

det A=43RdetB=32% I["| ¢ S

o : [ bt o
0ol

02 () wvat & oo FefarfeaT o

k|
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42. det (2AB) fras sy 2 2 © 9t
"

(a) 96 f '_nl o
® 72 L‘o" °j
(c) 48 £
) 0L ™
(n-{'(‘s‘q’ﬁd‘
148, det (3AB™) freh st & 2
(8 12
() 18
(c) 36
. @ 48 :
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fareme #ifero : .
T Uy e W oyeR & W R %
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44, 2 H9H TR ? (4 -
(a) 4 l :
b 2 Lot

1

S

(d)

B | =

45. zwg@‘aﬁmﬁ:ﬂﬁ?
(a)
S

(c)

o

A pola a(a

(d)
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38. The numbers 1, 5 and 25 can be three terms | Consider the following for the next 02 (two)

(not necessarily consecutive) of items :
Let A and B be (3 x 3) matrices with det A=4
e and det B = 3.
(b)  more than one but finite numbers of APs
(c) infinite number of APs _ 42. Whatis det (2AB) equal to ?
(d) finite number of GPs (@) 96
) 72
() 48
- th th (d 36
39. The sum of (p + q)*" and (p — q)" terms of an
AP is equal to
43. Whatis det (3AB™)) equalto? -
(8) (2p)th term (a) 12
®) @ q)th tarai (b) 18
(c) 36
() Twice the p™ term - d 48

(d) Twice the qth term ‘
Consider the following for the next 02 (two)
‘| items :

1+2i

A complex number is given byz= T,
A1-Q-1)

40. If A is a square matrix of order n > 1, then

hich one of the following i ?
Which one of the following is correct 44. What is the modulus of z ?

(a) det(—A)=detA

(a)" 4

(b) det(-A)=(-1)"detA ' _ b)) 2

(¢) det(-A)=—detA | © 1
(d det(-A)=ndetA 1
4 (d) 3

4. What is  the least value of 45. What is the principal argument of z ?
25 cosec” x + 36 sec? x ?

@), -0
(a) 1
: x
(b) 11 _ . (b) .
) - 120
E Gy X
(d 121 2
d =

EDF-S-DGV (13-B)
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(@) RTaged ik gufia B, o G | PO T e hifir
g 1. (ANB)UANB)U(ANB)=AUB

‘(y Rmﬁaaﬂtém%,ﬁamgaqﬁf 2. (AU(ANB))=AUB

? I HUE § A IR E 2
(c) %zwgaaﬁtda;m’aa%,ﬁamﬁaw W Faa1

(b) %Had 2 |

@ R @ @G & ik T & g 2, feg = -'
. i @ TA 1,72 |

|51, =M wfifm X u sifa vy § sl wm wif
48. TP @R ¥ WYEA N W U HEY R 39 &BCWX%Wﬁlﬁwﬁ!ﬁa

HYHT
Hﬂ;ﬁﬁtIIhlllaﬂ%ﬁinyzﬂ—dxy+3y2=0 ‘T{ﬁm’(ﬁﬁlﬂ
1. AcC=ANB)c(CNB),

8, @ fefefed 3§ Q P o wh @ 2 (AUB)c(CUB)
@ memﬁag’ﬁ;@wﬁ 2. (AnB)c(CnB @i B agswl ¥ firg
' % i = Acg
: i 3. (AUB)c(CuB)®Hi B ay=/i &

(b) Rfagwafkw%,ﬁﬁmﬁmqﬁ :Accc : K

g o ot 3 @ B-A T E o
(¢) R T&ged, ufa 3 g 2 (2) “had 1 3R 2
@ R @ qufia k) Faw 2 3 3

@Wm%%%%q %aﬂ“ (c) Haa133

(d 1,23R3

EDF-S-DGV - {14=8)




46.

47,

What is the n® term of the sequence
25, -125, 625, -3125, ... ?

@ pt

® 15t

(c) i )211—1 5n+1

Suppose X = {1, 2, 3, 4} and R is a relation on
X.IfR=1{(1,1),(2,2),(3,3),(1,2),(21), (2 3),
(3, 2)}, then which one of the following is
correct ?

(a) R is reflexive and symmetric, but not |

transitive
(b) R is symmetric and tra.naitive, but not
reflexive '

() R is reflexive and transitive, but not

symmetric
(d) R is neither reflexive nor transitive, but
symmetric
48. A relation R is defined on the set N of natural
numbers as xRy = x” — 4xy + 3y = 0. Then
which one of the following is correct ?
(@ R is reflexive and symmetric, but not
transitive
(b) R is reflexive and transitive, but not
symmetric
()  Ris reflexive, symmetric and transitive
(d) Ris reflexive, but neither symmetric nor
transitive
EDF-S-DGV

49.

51.

(15-B)

IfA={xeZ:x°~1=0} and
B=(xeZ:x*+x+ 1 = 0}, where Z is set of
complex numbers, then what is A N B equal
to ?

(a) Null set

i {—1+J§‘i, .~1-J§i}

2 2

{—1+J§i _1-J§i}
(c) i
4 4

@ {1+J§i’ 1-J§i}
2 2

Consider the following statements for the two
non-empty sets A and B :

1. (ANB)JU(ANB)U(ANB)=AUB
2. (AU(ANB))=AUB
Which of the above statements is/are correct ?

(a) 1only

(b) 2only

(¢) Both1and?2
(d) Neither 1 nor 2

Let X be a non-empty set and let A B, C
be subsets of X. Consider the following
statements :

1. AcC=ANB)c(CNB),
(AUB)c(CUB)

2. (ANB)c(CNB)forallsetsB= AcC
3. (AUB)c(CUB)forallsetsB=AcC
Which of the above statements are correct ?

(@) 1and 2'only
(b) 2and 3 only
(¢) 1and3only
(d 1, 2and3



27 , 56. FHIFM 2° + 22% + 22+ 1= 0 3R
R Bt D R TR IR e d 2 R 8
i1 /1 0 = LD . ¥
< ay = .
%H%W%‘? Qf?—?':' o 4 .-,-,')—1 (a) ﬁl’(;
i ® 1o
Q. 9,9 = _ PRI L
\/1) 0 o of4»= il e = 1";
-2 -1 8/ anr * 2% \9 %0
x a3l o '3" O( 4 -
" g g 81} a'&l»f; \'l-‘g,'r . ‘2"(.9w9. 20(n-1
[0 0 2 © 12 =20
) g 0.1 @ 18 ‘;;D
0 0 o
d) TEE S T 2 58. @mwmﬁg%lﬁﬁg&ﬁﬁﬁﬂﬁéxﬂ
Ea i farg o Wt Y ¥ 7 ¥ | 3w Wi
| 53. TR |x’-x—6|=x+2 FAFE? aagmmﬁmﬂ%aﬁ‘sqﬁ@aﬁaﬁaﬁm
,{ WO -2 1,4 -l =ML aqﬁmmﬁﬁﬁ'? o @
y b 0,24 mt-27 -9 ?-g @) 90 7 T . ;
| (© 0,1,4 ,.,,} grin-b =2 ®) 45 T
| @ -2,24 ogm-P+2L0 :{_ ) Ry ee———— *&'}1—
0 (=1 @ 30
54. zxﬁ:A=[1 ]% al IR AR :
0*1'7'5‘@59. a@'{bmpx +qx+r=0 (GlﬂTp,q,r
(a) FGHAE AR aﬁmmé)%fﬁammﬁmqa%l
A NEA a>0.b>0 @
I Vi mw (b) a<0, b<0
\@) T SR © a>0,b<0
x. =8 4 @ a<0,b>0
55. IR |y 1 i|=6+11 ®, @ x3myH
| Z . _li el Jaso. WA=, 0, un% ?hawumﬂaﬁﬂ(w
HH A FE 2 7’] ,,,y,f:)b‘ e \\
: (A= @ {9, (0}, (A}, (1, w) q,"’ @u
&‘/ -84 % QA — (b) {0, (A, (%, wh), ol Wi} %
@ 3.4 &C (0, ), G, ), B, O, )
) 3,-4 @ {0, A, W, O 5 )
@ =5=id. . )
EDF-S-DGV _M:_ L e YL 29-;/5:'8)6"'“'/ . 1L 5 Q
. - i =3 ,@U
“ .-7LL ,t&'l‘l. '*'3\3' \ L%...a‘} = },-.
2“+3‘4/ : 9_%-)'3




3 2 0
52. If B=|2 4 0/, then what is adjoint of B
149
equal to ?
" 0 0 o
(a) 0 0. 0
-2 -1 8
0 0 -2
(b) 0 0 -1
[0 -9 8
0 0
(c) g: 0 1
0 0 o
(d) It does not exist
53. What are the roots of the equation
]xz—x—ﬁl =x+27?
(a) -2,1,4
(b) '0_, 2, 4
() 0,1,4
d -2,24
: 0 1 .
54. IfA= . , then the matrix A is a/an
(a) Singular matrix
(b) Involutery matrix
(¢) Nilpotent matrix
(d) Idempotent matrix
x =3i 1
65. If|ly 1 i* [=6+11i, then what are the
0 2 ~i ;
values of x and y respectively ? A
@ -3,4 |
(b) 3,4
& 3,-4
EDF-S-DGV -

56.

57.

59.

(17-B)

The common roots of the equations
z3+222+2z+1=0a11d22017+z2018+1:0
are

(a) -1l o
® 1,0
© -1,
@ oo

If C(20, n + 2) = C(20, n - 2), then what is n

equal to ?
(a) 8
(b 10
@ 12
(d 16

There are 10 points in a plane. No three of
these points are in a straight line, What is the
total number of straight lines which can be
formed by joining the points ?

(a 90

® 45

(e 40

d 30

The equation px? + qx +r =0 (where p, q, , all

are positive) has distinct real roots a and b,

Which one of the following is correct ?
(@ a>0,b>0
b a<0, b<0
(0 a>0, b<0
d a<0, b>0

If A ={A, (A, u}}, then the power set of A is
@ {¢, {0}, A}, A, ul}

(b) o, (A}, (A, i}, A, uin}

© (¢, (AL, (A, u}, @, A, i}

@ {0, @, ), @, A, up



61. 3fe A, B, C 9 Heamd &, df 58 ¥ +5-3-%9 ot [ 64.

ATl % Uh W1y " i Tif¥ewar w0 R 2

(a) PAANB)+PBNC)+P(CNA)

(b) PANDB)+PBNC)+PCNA) -
PANBNC)

<

d PANB +PBNC) +PCNA) -
3P(ANBNC)

62. aﬁ_ﬁ?mxaﬂtYHﬁaﬁ,a’tmﬁﬁﬁﬂmﬁv

Tl TR ?
() 1
b -1

we 0

o

63. 3 a7 AW A IR B W YR §

PAUB =2 M PAND =2 %I

afg P(B) < P(A) ®, @ P(B) foras sten ® 2

1
R =

(%
(b) % o (20

(c)

BO | =

D=

EDF-S-DGV

¢© PANB +PBNC) +PCNA) -
1 2PANBNC)

65
2% < fe
) IFwd A B T 4” ;d@'

O
i

(18-B)

TH G (100) JEU H WL 50 B R I

g faaem 10 B | AfE v&s Jgw A | 5 v

e s & 3k R 38 4 @ il = R
ST ®, A T4 4R 3R T4 g faees A
@A

W @5 T

(b) 11-25,1-25

(e)  11-25,25

(d) 12:5,2-5

. AR 3 Frsee grEl B S e R, 99 W 9@

& wfdery sl 7= R 6 vedt o w6

3, St 7w e gan 2 f wr w sy s
1 IS 8 R ? 1%
(e G'b)ﬁ.
(8
(a) % Lqi'n ¥ L’B\(),@
er-2
o % ﬁ &
1
¥ 5
1
@ <



61. If A, B, C are three events, then what is the | 64.
probability that at least two of these events
occur together ?

(@ PANB)+PBNC)+PCNA)

(b) P(AnB)+P(BnC)+P(CnA)-
PAANBN Q)

(0 PANB)+PBNC +PC N A) -
2PANB N C)

(d) P(AnB)+P(BnC)+P(0nA)-—
3PLANBN Q)

62. If two variables X and Y are independent, then

what is the correlation coefficient between
them ? '

(a 1

(b) -1

© o | 65.

(d) None of the above

63. Two independent events A and B are such
that P(A U B) = g andP(AﬂB):%.If
P(B) < P(A), then what is P(B) equal to ?

(a)

-] =

®)

o =

(c)

BO | =

S (d)

| =

EDF-S-DGV ' (19-B)

The mean of 100 observations is 50 and the
standard deviation is 10. If 5 is subtracted
from each observation and then it is divided
by 4, then what will be the new mean and the
new standard deviatiop respectively ?

(a) 45,5
(b) 11-25,1-25
() 11-25,25

. 125,25

If two fair dice are rolled then what is the
conditional probability that the first dice lands
on 6 given that the sum of numbers on the
dice is 8 ?

(a). %
(b) %
(c) %
(d) %



66. amﬁaqﬁaﬁmm% Y% IH

67.

T @

aqﬂﬁjﬁiﬂdLjﬁﬂﬁﬂL;jﬁjEUmﬁ
ok I e T @ ¥ Ry MR | AW
1 wifresar = & 76 21 9T U SEn T A ?

(R) =

(b)

©|

©. ==

€O | =

o o i 0§, B 3 3 g e @

&t & Iﬂﬁzﬁaﬁ%mﬁgﬁwé
aﬂtwmaﬁmﬁm%%%aﬁgﬂg

e o @R E, @ oA R

.-y 8

(b)) 4

¢ b

@ 6

EDF-S-DGV

i 7 e

68. AT % 52 Yl I UH T A A UW H AGIDH
w9 @ T @R | = & B iReRaT T R

%aﬁﬁﬁﬁ“@a‘(@ﬂﬂ)ﬁxﬂ
saly /
1

o é“ 2 |
_ P

o6t
d ¥
17 \
£

%
©  —

69. T TR Y IS IR et Sran @ I IEH 5 A

eﬂmmwm% |m3=ﬁﬁ
gﬁﬁwwmaﬁtmﬁaﬂqm:ﬁﬁ

(a)

| oo

16
9

eo| oo
o | i

(b)

w | e
oo |

(e)

4
(d) T

(20-B)



66.

67.

Two symmetric dice flipped with each dice |-
‘having two sides painted red, two painted

black, one painted yellow and the other
painted white. What is the probability that
both land on the same colour ?

3

(a) I-B*

2
(b) 9

There are n socks in a drawgr,- of which
3 socks are red. If 2 of the socks are chosen
randomly and the probability that both

selected socks are red is -;—, then what is the

~ valueofn?
(a) 3
b) 4
) 5
@ 6
EDF-S-DGV

(21-B)

Two cards are chosen at random from a deck
of 52 playing cards. What is the probability
that both of them have the same value ?

(a) —

(b)

(&0 —

(d)

In eight throws of a die, 5 or 6 is considered a
success. The mean and standard deviation of
total number of successes is respectively given

o __
(a) g 199

o 18

(c) -;—, % ‘
@ 23



70. G AN AN B YFR & % A 3R B
GO IS & | afe P(A) = 0-5 3T P(B) = 0-6

71.

72,

EDF-8-DGV

. 2. U guftE W % fag

- ? | IgfeE® W Z 3R W yeRr gRwifva §

| WEHEY U TR ?

2, @ P(A|B) <1 9 4T 8 ?
a

1 o’ @
(a) 5 _

1
® <

2
(c) g

1
O
Frafafas suat w femm Hifse .

1 HE % UH WY H I GHRR AT §
%ﬁﬂﬁﬁﬂw‘l’q‘hﬂ‘ﬂ ATES Heg YA Bl
|

FHIR AT > WA > 9ges (Hig) |
I HUE J | HA-AVE T R ?
(a) a1
(b) e 2
O 130K 2 3
@ Far1, &2

A #f X R Y F 9 ggEay 06 06
ﬁsZ=X+5aﬂtW=§%|zaﬁ(w%—ﬂa
(a) - 01

(b) 02
(¢ 036

(d 06

73. IR} 1 3R 20 F fiw & @ft g qiwl = 3

74.

75.

(22;-3)

on & S R, @ wRomdt Aoft w1 weor
R ?

%)
”

(a) 9975 /

‘p&

X
(b) 199-754’, E
(¢) 29925
(d) 399-25

39 = H Wiea @1 & 6 Rt ga @1
it farg Iueht wftfa i amen 3e& 5 &
AfYes avig & 7

(a)

b |

(b)

b | =

(c)

| ca

@ 38 Puifa 78 fen s g

IR AR B WA &, 7@ A @ WA AW
WB%a&aﬁ&ﬁmﬁmw%?

(a) P(A) + P(B)

@)

© PANB)

P(AUB)

(d) PA)P(B)



70. A and B are two events such that A and B
are mutually exclusive. If P(A) = (-5 and

P(B) = 0-6, then what is the value of P(A|B)?

1

(a) g

1
b) =
: 6
2

(c) g
1

dy . =

(d) 3

71. Consider the following statements :

1.  The algebraic sum of deviations of a set
of valués from their arithmetic mean is
always zero.

2.  Arithmetic mean > Median > Mode for a

_ symmetric distribution.

Which of the above statements is/are correct ?

(a) 1only

(b)  2only

(¢) Bothland?2.

(d) Neither 1 nor 2

72. Let the correlation coefficient between X and

Y be 0:6. Random variables Z and W are

defined as Z =X + 5 and W= . What is the

correlation coefficient between Z and W? 4

(a) 01

(b) 02

(c) 036

d 06

EDF-S-DGV

73.

740

75.

(23-B)

If all the natural numbers between 1 and 20

are multiplied by 3, then what is the variance
of the resulting series ?

(a) 9975

(b) 19975
() 29925
(d) 399-25

What is the probability that an interior point
in a circle is closer to the centre than to the
circumference ?

1
(&) I
: X
(b) 3
3 s
(c) vy

(d) It cannot be determined

If A and Blare two events, then what is the
probability of occurrence of either event A or
event B ?

P(A) + P(B)

(a)

(b) P(AUB)
() PAANB)
(d) P(A) P(B)



71. kama-ﬁ'nmw%rrh f(x)= {k T

x = 0 T Gad A }f,é

(a)

M 1

(c)
(d)

78.
(a)
(b)
(c)
(d)

. |

xX+y=¢C

sin X

Pﬁ Np*Q
P ®© v
-1
.

ax+by$1=[-mnﬁ,aaxy R,
e —»b% ET s

2abc 7‘ o
3abc

4abc

Xin® g e T R ?'aL ,

oo™ =

-

\9‘) In(a) g
ex

®) In(a) s
ex

© In(ae) it A

ae™

d In(a) e

EDF-S-DGV

xz0
Sl
*=0

KU

B2
FO

—

-
-

80. T y:csinxﬁ'{x-ma’-iﬁﬂ%iﬁ@qm
(a) ¢

(b) 2c

() 3¢

(d) 4c

81. e sinB+cusB=J_cosB 2, ar

o 0
(cos © — sin ©) ﬁkﬁ:j‘ig’( %9}9._ U
(@) - +2cos® C;pno-ﬂ' ,45\\»'16
®) - J2sin® e,m%—-
%31\1" 30
\AO) J2sin@ z B
. Fane Lt
(d) 2sin® - '}7
82. anﬁmmgcm% S T S H

AT 22 cm ® | S 1 @ = S I

29 (o = 6= ALl
. - &:l&ﬁ
@ 84 G 4R 2 U

21 WA

D

242 &b

444 il
(b) 21 &

121
(c) 21
(§) 4—,;1- cm

@t e fFa

i 3 1
'ﬂﬁmﬁ:—iﬂtan9=—‘{-§%,

83.




—

76. . What is the general solution of the differential | 80.

equation %+§=0 ?
(a) x2+y2=c
® x-y=c

(e) x2+y2=cxy

(d x+y=c 81.

77. The value of k which makes

78. What is the minimum value of azx + hzy
_ .wherexy=c2?

DT

(a) abc
g (b) 2abc

(c) 3abc

(d) 4abc

79. Whatis I @ 33 equal to ?

(a) I:(:) +c _ 83.
(.b) In(xa) e

) lr_:::el %

@ g e

EDF-S-DGV (25-B)

sinx x=z0 !
f(x)= { continuous at x = 0, is
=

e 2

(b) 1

@ -1

82. .

d o

(e) -

What is the area of one of the loops between
the curve y = ¢ sin x and x-axis ?

(a) ¢

(b) 2c
(© 3c
(d) 4c

If sin'®+cos®= /2 cos 0, then what is

(cos @ — sin 0) equal to ?

(@) - V2cos0
(b) - VJ2sin@
(e 2sin el
d 2 Si.n‘B

In a circle of diameter 44 cm, the length of a
chord is 22 cm. What is the length of minor arec
of the chord ?

484
(a) ?1-
242

(b) 21

cm
121
21

44

(d) 7

'Ifsine'=-§andtane= LA S b hich

V3
quadrant does 0 lie ?
(a) First
(b)  Second
(©)  Third
(d Fourth



84. 3% 1,2, 3,4 30 5 FAN Hh qA i I

.\yf'se

. 86.

ﬁmﬁmmmmaﬂﬁﬁi St 3Tl
&1 grgfy 6t sfa 727 R 2

GAEFE

(b) 30 x
(c) 24 4
(d) 12 -

b s R ks g AR, T
e ¥ e 2o 7 R, 39 B0 x B 3T
forg BY, N fr AT A A R, A P y
213k AB=12%, ?hﬁn%%aﬁ%ﬂqmqm

w27

‘(@) hZ(cot? y —cot? x) = 22
b) 2 (cot? y- cot? x) = h?
© B .(t.an?y-.- tan® x) = 2
@ 2 (tan’y—tan®x) =h®

amaﬁrqasnﬁﬁ i wfdd W™ e
G |ﬂﬂiﬁ%@wéﬁaﬁuﬂm
FR?

(a) 31 %@

W 51

87.

EDF-S-DGV (26-B

Ty ==

() 07

&) ==

afz A 3 B.Q we ™ WER € f%
P(A) = 05, P(B) = 0-6 3T P(A N B) = 04%?@'
P(AUB ) forash st 8 2

(@ 09 mﬁo’b) OJ

(¢ 05

‘(}) 0-3

88. U W i fenfE A, B 3ft ¢ e i @

Rl 7o F B FW A TiEaTd A %,
% aﬂt%%lwﬁ%mﬁﬁawﬁmﬁ
& B & O 39 o < Wi w7 @ 6 v
1 8 0 ST ?

.
@) 3—2 @ AHQ#U
27 %’Lﬂ# %
(b) 32
" @

(c) 32

23
\3’65

l’gfh %

P ———

3 | &% IR F 91g 9 98 I§ € A 3@ 9| B
mﬁmw%ﬁa@mﬂ%wmmqﬁ

TR F HeE & 0F A AfuE R 2
@ 5
® 3
© -
@ =

. T R B I8TEn T IR Y @ w9

@Wﬂﬁﬁh{mlﬁﬁa%
mﬁmzmexmsmmﬁﬁmﬁw*ﬂ

s
(a)

(b)

(c)

D= b= o= N

(d)




84. How many three-digit even numbers can be
formed using the digits 1, 2, 3, 4 and 5 when
repetition of digits is not allowed ?

(a) 386
(b) 30
(©) 24
d 12

85. The angle of elevation of a tower of height h
from a point A due South of it is x and from a
point B due East of A is y. If AB = z, then
which one of the following is correct ?

(@ h?(cot? v - cot? x) = 22
) 2% (cot? y —cot® x) = h2
(© h®(tan®y - tan®x) = 22
(d 2% (tan®y—tan®x) = h?

86. From a deck of cards, cards are taken out with
replacement. What is the probability that the
fourteenth card taken out is an ace ?

1
(a) E
4
(b) 1
1
(c) -gé-
1
T
(d) 13

87. If A and B are two events such that
P(A) = 0-5, P(B) = 0-6 and P(A N B) = 0-4, then
whatis PCAUB ) equal to ?

(a) 09

() 07

() 05

(d o3
EDF-S-DGV

(27-B)

A problem is given to three students A, B and

C whose probabilities of solving the problem

are —;—, % and i respectively. What is the
probability that the problem will be solved if
they all solve the problem independehtly ?

29

(a) 32

27

(b)ﬁ

25

(c) ﬁ

23
© | e
(d) 32
A pair of fair dice is rolled. What is the
probability that the second dice lands on a

higher value than dees the first ?
(a) %

® 2

(0 —%

@ =

Afaircoiniatossedandanunb_iaaedt_lioeis
rolled together. What is the probability of
getting a 2 or 4 or 6 along with head ?

(a) %
® 2
(e) %
(d) %



(c)

P

95. H )= J2-D(x—3) TR

(a)
(b)

(0, )
[0, =)
(2, 3]

@ (2,3

EDF-S-DGV

(s{n x) cos (cos x)

(< sin x) cos (cos X)

(s>

96. IfaHe THIE -3% =cos(y-x)+1 HIEA 8

91. r>0 F fow, B r & T g9 F RN H
e & U ) € | @ AL + f(2) FeEh
TR ? (a) e*[sec(y—x)—tan(y—x)l=c
@ 1 (b) e sec(y—x)+tan(y-x)]=c
b 2 (¢) e*sec(y—x) tan(y—-x)=c
) 3 (d e*=csec(y—x) tan(y-x) dul
¥ e o5 (370 A H
92. IR fix) =3"* 8, W@ formes s |,
& x) 2, T fx) fy) fz) U, b ool @5 .,?ﬁ%m%?
? L At
0 . Walm
(a) flx+y+2) @ 0 Q O?L _tgb
() flx+y+z+2) © 242 - 'Q gl
§ fxry+z+d) @ 22+
. 93. GHfiE x® + 9|x| +20=0 ﬂ:%qmﬁ?ﬁgs' o e
Tﬁﬁiﬁf i b . y=:cos2x+bmn2xr9,\ag‘|“m,\.ﬂm_
d“y &
G @ ¥ +y=0 dn AU
I  dx? ,.-40‘&”&1*
b . -
( ) @ fb) _d,'2_g +25’=0 d”‘?’
© @ :‘2‘ 2y~
@ @ 3 -4=0 Ggn
) ; . d2y )
94, ﬂﬁﬂx)=sx?(wsx)%,ﬁ}f(x)mmﬁ{%? \9)"‘ d_x"2‘+4y=0 _qubg(h’)’:}
() sin(-sinx) '%ﬁ' 99. &g i TH & 7w EN H T I A (3

TF HEAEHT AR 3N efgasr Rl arw)
ﬁm%lﬁwwmﬁw
@1 9, @ 3 Yom B S T ATTAHR

Rl % =@ ¥ Y@ F B 2
Q_,—%WQ @ n:(m+2) '
rr(.b()/' ® @+2):n
W’b?? (c) 1_:1
@ Iwd Y HE @
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91. Forr > 0, fir) is the ratio of perimeter to area
of a circle of radius r. Then f(1) + f(2) is equal
to
k8) 1
(b) 2
(¢ 3
d 4

92. If flx) =3, then f(x) fly) () is equal to
(a) fix+y+2)

b)) fx+y+z+1)
() fix+y+z+2)
d fix+y+z+3)

93. The number of real roots for the equation
x2+9|x| +20=0is
(a) Zero
(b) One
() Two
(d) Three

94. If fix) = sin (cos ), then £(x) is equal to
(@)  cos (cos x)

(b)  sin (- sin x)
(¢)  (sin x) cos (cos x)
(d) ff sin x) cos (cos x)

95. The domain ofthé function

= JC-0x-3) is
@ 0
(b) [0, )
(© [2,3]
@ (2,3
EDF:-S—DGV

97.

(29-B)

c:'-——..‘l\ﬂ;a

The. solution of the differential equation

%i—r =cos(y—x)+1is

(@  e*[sec(y~x)—tan (y-x)] =c
(b)  e[sec(y—x)+ tan(y—x)] = ¢
(c) e*sec(y—x) tan (y—x)=c
(d) e*=csec(y-x) tan(y—x)

[sin x —cos x| dx is equal to

(a o0
M) 2(v2 -1)
@ 2.2

@ 22 +1

Ify=acos_2x+bsin2x, then
dz
(a) 5;21 +y=0

X
(b) g;g-+2y=o
2
© g—x%—qmo_
2
(d) ‘?1‘;%+4y=0

A given quantity of metal is to be cast into a
half cylinder (i.e. with a rectangular base and
semicircular ends). If the total surface area is
to be minimum, then the ratio of the height of
the half cylinder to the diameter of ‘the
semicircular ends is

(@) n:(n+2)
(b) - (m+2):n
@ 1:1

(d) None of the above



i

(a) e+1
(b) e-1 (o ‘E{’C
e
(c) e+2 b
¢
\(9) e
101 2R f0=2"2,x+ 2% ™ @ ek
£ y
A
TR ? "
4x+2) '
(a) iha ﬁ:b)
®) X+2 : 4');}_9'
4(x-2)
x+2
i(y— x-2
@ 21 +x)
1-x
102. I In(x*) dx e ST R ?
Qg nhd

\)&) 2xlu(x] 2x+c V2
%-—-

(b)

(c)

(d)

smxcosx

2x In(x) + ¢

L~
M Lot

gt
dx ﬁﬁzﬁswi"

M

/7

15 e g
_ %'ilw %&
EDF-S-DGV V °3 : (30—
9

_ 8
A-®VY
108. {5 (4,2 @ y* = 8x 1 Freqaw g fopwrss R
i L
@ V2
® 242

© 2

@ 3842

104. y-31& ! qa-fag W o F3 A ga-fm
I Ifehel GHIHT B

2 dy Q’Wtu%“
(a) x+y 2xydx =0

St dy _
B x +y2+2xydx—
(€ xz—y2+2xy~g-i—=0

@. -y~ 2xy—~—0

: d%y dy )
105. IaFe THFO =1 +g[—J + 0y =x %

dx
Haf & e W Rraw AT

1. aqamarﬂmﬁum(ﬁn"r);%l'
2. awe Wi i we (A7) 22

T ofe wol § A P w2 2

(a) FaA1 .
(b) ad 2
© 13k zaA

Qo - oA~

et



100. e X oos x dx is equal to

S Syt |

(a) e+1
(b) e-1
(c) e+2

d e

101. If f(x):x—“;", x # —2, then what is fl(x)
X 4 )

equal to ?

“ A(x +2)

(a) x-2
x+2

s 4x-=2) *
x+2

© x-2

@ -|2(1+x)
1-x

102. What s I Inx) dx equal to?

,{
(a) 2x%£n(x) —-2x+c
. o\

(b)) -—+c

X
(e) 2xlnx)+c

2 In(x)
x

—2x+¢-

(d)

103. The minimum distance from the point (4, 2) to
yz = 8x is equal to

(@ 2
b 2V2
c) 2
@ 32

104. The differential equation of the system of
circles touching the y-axis at the origin is

@ LeP-2y a0
dx

b
'. ' . o
(b) x2+y2+2xy‘-}i} =0 ;b

(c) xz«-y2+2xy'% =0

105. Consider the following in respect of the :
differential equation :

g-:%: + 2(%)2 +9y=x

1.  The degree of the differential equation
is 1. :

2. The order of the differential equation
is 2.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

() Both1and2

(d) Neithe;r 1nor2

“DF-S-DGV ek . (31-B) ' -




106. A(2, -3, 3), B(5, -3, —4) 3R C(2, -3, -2) it
Tt s Bye 1 Fgs PRa g R 2
(a)
(b)
(c)
@

(-3,3,-1)
8,-3,-1)
(3,1,-9)
(-3,-1,-3)

107.7ﬁ@tx +y2+z —6x+8y—10z+1-03ﬁ

108. GUaE 2x + y + 22 =9 MM dx — by -4z =17%

110. 738 % Rewamr 7 § 7 ;éli
@ <1,1L1> 9,\’&3/
@ <1,00> @’
{\g \")/JQ
() <0,1,0>

@ <00,1> q}—*@

LR 7 «i-aj+sk oD =21 +5-3k

2,A(b -a 2
(b )(3 J?#@\;ﬁgi‘)

(a)
7
(c)
(d)

106

_|o~— 9%
> 16k
112. 7 forgell A ok B & fufa ufew semwn:

N fu
31 -2 +k el +45 -3k & @ AB

ﬁéﬂaﬂtﬁﬁ-(a,zn%gﬁﬁmﬁm‘ 6 v TR ol o f n*ag,‘\l
(@ 14 ¢ A 4_1(
6. Ux-ByiSee18 &l 18 #/(\/_,c@\)*“
0x + 2 =28 P b
(b) 10x+2y+2z ‘Z"'é%:’,o(c) o \llr‘:’/’b/
(¢) 10x+2y-2z=28 oja""ql - m%
@ 10x-2y-2z=24 47 §h e \[6

109, TG GHAEAT 4x — 2y + 4z + 9 = 0 3K

%JSH 2%@ ?

1 - -
( breol|
9“1 =l
®) = '
2 -
(c) -g— %/9
@ % -/g/;gf_
l/‘
V (32

EDF-S-DGV 1 .

2 &

-B)

113. 3R} & wwsvr Bgw ABC #, #iAC=p®, q
A_ﬁ.A%'+B_(’3.B_A+C—A.CC_ﬁm

TR ? ;
(a) p2 i \ I8
(). 2p? [

p(




106. The centroid of the triangle with vertices

107.

A(2, -3, 3), B(5, -3, —4) and C(2, -3, -2) is the
point

(a) (-3,8,-1)
® (3,-3,-1)
© (3,1,-3)

@ 3,-1,-9

What is the radius of the sphere
X2 +y +2°—6x+8y-10z+1=0?
(@ 5
b 2
© 7
d 3
108. The equation of the plane passing through
the intersection of the planes 2x + y + 2z = 9,
4x — 5y — 4z = 1 and the point (3, 2, 1) is
(@) 10x-2y+2z=28
(b) 10x + 2y + 2z =28
() 10x+2y-2z=28
(d 10x-2y-2z=24
109. The distance between the parallel planes
: 4x ~2y +4z+9=0and 8x — 4y + 82 + 21 = 0
is. ; :
#.
1
(a) Z
1
(b) 3
g
(c) E
7
4 =
(d) 7
DF-S-DGV

110.

111.

What are the direction cosines of z-axis ?
a) <1,1.1>
(b) <1,0,0>
© <0, 1,0>
(d)." s P, Qs
o =i-2j+5kand B =2} + 5 -3t
then whatis (b — a ).(3a + b ) equal to ?
"~ (a) 106
(b) -106
() 53

112,

113'

(33-B)

(d -53

If the position vectors of points A and B are
A A A i~y

3i -2j+k and:2? +43 —3’}: respectively,

then what is the length of AB ?

(a) 14
) J29
(c) J¢T3
@ 53
If in a right-angled triangle ABC, hypotenuse

AC = p, then what is
e I R L TR e
AB.AC+BC-.BA+CA.CBequa1to?

(a) p2
(b) 2p?
2
P

(c) 5

d .p




16+t

44347 - 36
114. 3R 2 =21-65-3k ok B-atss} L
& oft F HIU BT WA (sine) & -
1 9,’~ng;ﬂ%J
Ve @l 1B /
5 = %.Jﬂ?‘?
® T 743
5
(c) 26 %
—[0f3
D = -
26 J—QZ

115.2 #1 =& 77 ¥ & fmd fm sRw
3% +45 - ¢ M w23 + 25 + 108

EDF-S-DGV

118.
'

117. 3 f(x) = logy (1 + %) 8, A

4f(4) + 5f(1) — log,o 2 Tohad e @ 2

a o0

1

© 2

@ 4

f(x)=zn(,/x2+1 - x) G 9ftifée o v 1

(a) U 99 %o

(b) U fosw e

(© uu 3N Rww wom 2=
(@ 79w 3k T fvm vom

@ 1 A4A= 16
4 = 4 7 119. f(x) = log, 10 GRT YRWIa B £a1 SHil &
s ta) x>10
© 3 ® x=10ﬁ§’|33§{,x>0 471'0‘5W
{ S (S o Ph
@ 4 © x210 0
7 L x_@mm
@ x=1% BT, x50 Cobpo&”r
116. x % W& sec” (tan™" x) F e 797 & 2 _ ﬁ)[ A
] g 1—cos® 4x 2
: |120. lim 5 TP T § 2 %
a) 2x X
0 ¢ =
a
b x*+1
(b) 12
© =x+1 oy
@ x* @ 36
(34-B)




114. The sine of the angle between vectors

— A A A —» A A A
a =2i-6j-3kand b =4i +3j -k

is

Y
V26
) %
(c)_\ A—?% .
@ %

115. What is the value of A for which the vectors
3? +43‘ —12 a.nd'—2? +13 +1012 are

perpendicular ?
() - 1
() 2
() 3

@ 4

116. What is the derivative of sec? (tan™! x) with

respect to x ? ;
(a) 2x

g
© x+1

@ x2

EDF-S-DGV

(35-8B)

118.

119,

117. If fix) =log;o (1 +Xx), then what is

4f(4) + 5(1) — log;p 2 equal to ?

(@ 0
(b) 1
() 2
d 4

A function f defined by fx) = In ({x2 +1 — x)

is

(a) an even function

(b) an odd function

(c)  Both even and odd function

(d) Neither even nor odd function

The domain of the function f defined by

fix) = log, 10 is

(@) x>10

() x210

b)) x>0 exciuding x=10

(d) x>0excludingx=1

— 3.
lin:l———-1 e is equal to

x—0 x2

(@ 0

(b) 12
() 24

(d) 36

. .LJJ 4
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